Sec. 2.2 In Class Problems

5. (a) lim g(¢) = —1 (®) lim g(t) =2
(c) ﬁl% g(t) does not exist because the limits in part (a) and part (b) are not equal
(d) lim g(¢t) =2 (e) lim g(t) =0
t—2 t—2T

(D tli]r_zr; g(t) does not exist because the limits in part (d) and part (e) are not equal.
(@ 9(2)=1 (@) lim g(t) = 3

1. 1.3 (a) lir})l_ flz)=1

®) lim f()=0

-2
L J2 (c) ].in}) f(z) does not exist because the

—05 limits in part (a) and part (b) are not
equal.

M. lim f(z)=4 lim f(z)=2, lirE2 flz)=2,

=37 o&—3

f8)=3 f(-2)=1
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14. For f(z) = CR—
x f(z) x f(z)
0 0 —2 2
—0.5 —1 —1.5 3
—0.9 —9 —1.1 11
—0.95 —19 —1.01 101
—0.99 —09 —1.001 | 1001
—0.999 | —999
z? —

2 .
It appears that lim —L — =% does not exist since

z——1g2 —x—2

f(z) - ccasx — —1~ and f(z) — —occasz — —17_
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e —1—=x

15. For f(x) = =
@ f(x) @ f(=)
1 |oms2s2| | -1 | 0367870
05 | 0594885 | | —05 | 0426123
0.1 | 0517092 | | —01 | 0483742
0.05 | 0508430 | | —0.05 | 0491770
0.01 | 0501671 —001 | 0498337
. e —1—=x
It appears that lim ——— =05 = 3.
17. For f(z) = YET4=2
ax
@ f(x) @ f(z)
1 |o23606s | [ -1 [ 0267910
05 | 0242641 | | —05 | 0258343
01 | 0248457 [ | —01 | 0251582
005 | 0249224 | | —005 | 0250786
001 | 0240844 | | —0.01 | 0.250156
Verd—2
It appears that lim Vel _g2s=1
z— x
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